
www.essve.com

Art.nr
Benämning

EAN-nr
Förs.-
enhet

Ant/
förp

Förp/
storp

Art.-
grupp

550200 Maskinskruv MKFS A4 M3 × 10 mm 7317765502001 PC 12 10 P1005
550202 Maskinskruv MKFS A4 M3 × 20 mm 7317765502025 PC 10 10 P1005
550210 Maskinskruv MKFX A4 M4 × 12 mm 7317765502100 PC 8 10 P1005
550212 Maskinskruv MKFS A4 M4 × 16 mm 7317765502124 PC 8 10 P1005
550214 Maskinskruv MKFS A4 M4 × 20 mm 7317765502148 PC 8 10 P1005
550216 Maskinskruv MKFS A4 M4 × 25 mm 7317765502162 PC 8 10 P1005
550222 Maskinskruv MKFX A4 M5 × 20 mm 7317765502223 PC 6 10 P1005
550224 Maskinskruv MKFX A4 M5 × 30 mm 7317765502247 PC 6 10 P1005
550226 Maskinskruv MKFS A4 M5 × 40 mm 7317765502261 PC 4 10 P1005
550228 Maskinskruv MKFS A4 M5 × 50 mm 7317765502285 PC 2 10 P1005
550242 Maskinskruv MKFX A4 M6 × 30 mm 7317765502421 PC 4 10 P1005
550244 Maskinskruv MKFS A4 M6 × 40 mm 7317765502445 PC 4 10 P1005
550248 Maskinskruv MKFS A4 M6 × 80 mm 7317765502483 PC 2 10 P1005
OBS! Spårskalle byts successivt ut mot stjärnskalle. Artikelnummer ändras ej.


